04193 T | WA | MAR | wiRig

7= miiEA

M
RN,
B2 AR 8.8 Ko

g
RERZEKBRAE,
IR HITEEEAE,

B
ZBDIN 650 , “F” BURF &R,

L

9
U
o

L
=
04193-1010 100 15| 30 | 30 | 15 32 | 32 22-46 10 M10x80 M10 12 13,9
04193-1212 126 | 20 | 40 | 40 | 20 40 | 40 28-58 12 M12x100 M12 16 20,2
04193-1214 126 | 20 | 40 | 40 | 20 40 | 40 28-56 14 M12x100 M12 16 20,2
04193-1616 160 | 25 | 50 | 50 | 25 49 | 50 36-72 16 M16x125 M16 20 37,8
04193-1618 160 | 26| 60 | 50 | 26 49 | 50 36-69 18 M16x125 M16 20 37,8
04193-2020 200 | 30| 60 | 60 | 30 55 | 70 43-92 20 M20x160 M20 24 58,8
04193-2022 200 |30 | 60 | 60 | 30 55| 70 43-92 22 M20x160 M20 24 58,8

© norelem www.norelem.com



